# **Spring Admission**

### Spring Semester (1st Semester/Level 1):

	luition	General Use Fee	Out-of-District Fee	l otal per Semester Hour	Credit Hours	lotal
In-District	\$57.00	\$48.00	\$0.00	\$105.00	16	\$1,680.00
Branch Campus	\$57.00	\$48.00	\$20.00	\$125.00	16	\$2,000.00
In-State	\$115.00	\$48.00	\$32.00	\$195.00	16	\$3,120.00
Out-of-State	\$206.00	\$48.00	\$46.00	\$300.00	16	\$4,800.00
		Stude	nt Pass Through Fees			
Book package for whole year (attached to VNSG 1400)					1	\$658.33
Testing/Course Materials (attached to VNSG 1400)					1	\$603.83
Malpractice Insurance (attached to VNSG 1360)					\$13.00	
				Tota	al Pass-Through	\$1,275.16

### Summer Semester (2nd Semester/Level 2):

	Tuition	General Use Fee	Out-of-District Fee	Total per Semester Hour	Credit Hours	Total
In-District	\$57.00	\$48.00	\$0.00	\$105.00	11	\$1,155.00
Branch Campus	\$57.00	\$48.00	\$20.00	\$125.00	11	\$1,375.00
In-State	\$115.00	\$48.00	\$32.00	\$195.00	11	\$2,145.00
Out-of-State \$206.00 \$48.00 \$46.00 \$300.00 11 <b>\$3,300.00</b>						
Student Pass Through Fees						

Testing (attached to VNSG 1509)	1	\$658.33
Urine Drug Screen (attached to VNSG 1323)	1	\$40.00
Tota	l Pass-Through	\$698.33

### Fall Semester (3rd Semester/Level 3):

	Tuition	General Use Fee	Out-of-District Fee	Total per Semester Hour	Credit Hours	Total
In-District	\$57.00	\$48.00	\$0.00	\$105.00	15	\$1,575.00
Branch Campus	\$57.00	\$48.00	\$20.00	\$125.00	15	\$1,875.00
In-State	\$115.00	\$48.00	\$32.00	\$195.00	15	\$2,925.00
Out-of-State	\$206.00	\$48.00	\$46.00	\$300.00	15	\$4,500.00
	Student Pass Through Fees					

Stadent ass modern ces		
Testing/Course Materials (attached to VNSG 2510)	1	\$658.33
Urine Drug Screen (attached to VNSG 2460)	1	\$40.00
Tota	al Pass-Through	\$698.33

Total In-District:	\$7,081.82
Total Branch Campus	\$7,921.82
Total In-State	\$10,861.82
Total Out-of-State	\$15,271.82

<sup>\*</sup>This is an estimate of the cost of the LVN program. Additional costs may be incurred.

\$1,275.16

**Total Pass-Through** 

# **Fall Admission**

#### Fall Semester (1st Semester/Level 1):

	luition	General Use Fee	Out-of-District Fee	l otal per Semester Hour	Credit Hours	lotal
In-District	\$57.00	\$48.00	\$0.00	\$105.00	16	\$1,680.00
Branch Campus	\$57.00	\$48.00	\$20.00	\$125.00	16	\$2,000.00
In-State	\$115.00	\$48.00	\$32.00	\$195.00	16	\$3,120.00
Out-of-State	\$206.00	\$48.00	\$46.00	\$300.00	16	\$4,800.00
Student Pass Through Fees						
Book package for whole year (attac	Book package for whole year (attached to VNSG 1400)				1	\$658.33
Testing/Course Materials (attached to VNSG 1400)				1	\$603.83	
Malpractice Insurance (attached to VNSG 1360)						\$13.00

#### Spring Semester (2nd Semester/Level 2):

	Tuition	General Use Fee	Out-of-District Fee	Total per Semester Hour	Credit Hours	Total
In-District	\$57.00	\$48.00	\$0.00	\$105.00	16	\$1,680.00
Branch Campus	\$57.00	\$48.00	\$20.00	\$125.00	16	\$2,000.00
In-State	\$115.00	\$48.00	\$32.00	\$195.00	16	\$3,120.00
Out-of-State	\$206.00	\$48.00	\$46.00	\$300.00	16	\$4,800.00
<u>.</u>		Stude	ent Pass Through Fees			

Testing (attached to VNSG 1509)	1	\$658.33
Urine Drug Screen (attached to VNSG 1463)	1	\$40.00
Tota	l Pass-Through	\$698.33

#### Summer Semester (3rd Semester/Level 3):

	Tuition	General Use Fee	Out-of-District Fee	Total per Semester Hour	Credit Hours	Total
In-District	\$57.00	\$48.00	\$0.00	\$105.00	10	\$1,050.00
Branch Campus	\$57.00	\$48.00	\$20.00	\$125.00	10	\$1,250.00
In-State	\$115.00	\$48.00	\$32.00	\$195.00	10	\$1,950.00
Out-of-State	\$206.00	\$48.00	\$46.00	\$300.00	10	\$3,000.00
	Student Pass Through Fees					

Student Pass I nrough Fees		
Testing/Course Materials (attached to VNSG 2510)	1	\$658.33
Urine Drug Screen (attached to VNSG 2460)	1	\$40.00
Tota	al Pass-Through	\$698.33

Total In-District:	\$7,081.82
Total Branch Campus	\$7,921.82
Total In-State	\$10,861.82
Total Out-of-State	\$15,271.82

<sup>\*</sup>This is an estimate of the cost of the LVN program. Additional costs may be incurred.



# **Program Costs**

## **Expenses (not included in tuition):**

Expenses	<b>Due Date</b>	Cost	Pay to	Notes
TEAS Nursing Entrance Exam Testing	By Exam Due Date	Appx. \$85 - \$120	ATI Testing	For questions see Testing Center
Transcripts	Due at Orientation	Varies with School	Previous schools	When transferring A&P to NCTC
CPR For Healthcare Provider BLS	Due at Orientation	Appx. \$30-\$65	Student's choice	Basic Life Support for Healthcare Providers (BLS)
Accident/Health Insurance	Due at Orientation	Varies	Student Choice	K12 offers the minimum to meet program qualifications.
History & Physical Exam	Due at orientation	Varies	MD/PA/NP	Use NCTC Form
Criminal Background Check	Part of fall tuition fees	Appx \$45	Included in fees paid to NCTC Business Office	Criminal Background Check
LVN Skills Kit	Prior to Start	Appx. \$320	Coursey Enterprises, Inc.	Will receive instructions on ordering when accepted.
ImmuniTrax Account	Due at Orientation	Appx. \$45.00	VerifyStudents.com	
Stethoscope	First Day of class	Varies	Student's choice	Can buy anywhere. Cheapest is fine.
Watch w/ Second Hand	First Day of class	Varies	Student's choice	Can buy anywhere. Cheapest is fine.
Scrubs	First Day of class	Varies	Prism Medical Apparel	Will receive instructions on ordering when accepted.
LVN patches	First Day of class	Appx. \$4.00 each	NCTC Bookstore	One for each uniform top or warm up jacket
Shoes (Part of uniform)	First Day of class	Varies with student	Student's choice (Option available from Prism Medical Apparel)	White; leather for safety; no clogs, backless, open toe, or mesh shoes.
Gas and car maintenance	Throughout the year	Varies	Student's choice	Not optional
Cap, Gown and Tassel	Fall Start: March 1 Spring Start: October 1	Appx \$40	NCTC Bookstore	
TBON Application Fee	Fall Start: May 1 Spring Start: October 1	Appx \$139	TBON	



## **Expenses (not included in tuition) (continued):**

	T			
NCLEX	Fall Start: May 1 Spring Start: October 1	Appx \$200	PearsonVue	
Shots/Titers:				
Flu	Due at Orientation	Varies	MD/PA/NP/Pharmacy	Annual See Immunization Requirements for more information
MMR	Due at Orientation	Varies	MD/PA/NP/Pharmacy	See Immunization Requirements for more information
Varicella	Due at Orientation	Varies	MD/PA/NP/Pharmacy	See Immunization Requirements for more information
ТВ	Due at Orientation	Varies	MD/PA/NP/Pharmacy	See Immunization Requirements for more information
НЕР В	Due at Orientation	Varies	MD/PA/NP/Pharmacy	See Immunization Requirements for more information
Meningitis	Due at Orientation	Varies	MD/PA/NP/Pharmacy	See Immunization Requirements for more information
TDaP	Due at Orientation	Varies	MD/PA/NP/Pharmacy	Every 10 years See Immunization Requirements for more information

<sup>\*</sup> Please note that tuition and fees may increase at any time